> A
A & 0l & AF 2 E A A
20218 & =04 LBHSI A AbSI = X 1t
SN ARSI =X B
Mo Lo=NSA
@ L=EX 20X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A3l = X 2t 102,016,075 92,303,824 9,712,251
= 59,076,549
J| 112,605
= 10,172,936
Al 32,653,985
Lo=xsad 74,783,146 67,392,688 7,390,458
= 46,504,238
J| 34,270
< 6,984,696
Al 21,259,942
Le=EX XA 61,162,660 54,363,882 6,798,778
=2 46,444 257
J| 34,270
< 2,750,502
Al 11,933,631
x=e3a Xa 50,792,258 45,208,878 5,583,380
= 40,633,806
< 2,031,691
Al 8,126,761
301 LA F 50,792,258 45,208,878 5,583,380
=2 40,633,806
< 2,031,691
Al 8,126,761
01 Mel28E 6= 50,792,258 45,208,878 5,583,380
OJI=AH3(16,646%) 50,792,258,000& 50,792,258
= 40,633,806
< 2,031,691
Al 8,126,761
Cogdiiel 2 AMSIESKE (=g itel A 7,464,954 6,626,680 838,274
slgs FHML XY¥)
= 3,732,477
< 559,871
Al 3,172,606
307 21201 A 7,464,954 6,626,680 838,274
= 3,732,477
< 559,871
Al 3,172,606
11T M3 SXAISEEX 7,464,954 6,626,680 838,274
OwolgXiel U ALBIZES IR (1,0872)
7,464,954,000& 7,464,954
= 3,732,477
< 559,871
Al 3,172,606
Colgdxtel ¥ AMslEsSXY SU(coldiel L A 359,268 328,992 30,276
Slgs Mgl olAdl)
2 179,634
= 26,945
Al 152,689
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57,400
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=z N H
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34,270
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2N
X ZH -
L= B

el

Akl = X1 ot
Lo=EXsd
SIS LetXE

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LOI=X LEtXA 12,401,995 11,863,179 538,816
< 4,113,350
Al 8,288,645
Lo=Ei2 24 917,862 856,449 61,413
< 52,000
Al 865,862
307 gl2tol & 917,862 856,449 61,413
= 52,000
Al 865,862
05 BIZHRI & 3 917,862 856,449 61,413
Okol=sXa& fAs(e2dl) 684,913
-=20(16%) 501,664,000 501,664
< 52,000
Al 449,664
-H===(16Y) 82,451,000& 82,451
-EINHE =S 47,528,000 47,528
-AS EEEREE3 53,270,000 53,270
Oko=sX& 2 (22l) 232,949,000 232,949
LoEX2 & BAR ML 10,200 11,400 A1,200
< 10,200
301 LetBA S 10,200 11,400 A1,200
< 10,200
01 MEIBEE 263 10,200 11,400 A 1,200
Okolsia 5 SAXL ML
50,000 x17H «12& 10,200
< 10,200
Lo=ET2 HSAE JIs:2d 23,430 773,000 AT49,570
201 2ot Y| 4,500 0 4,500
01 At 22l 4,500 0 4,500
Og=th oldyl(500) 440,000& +50H 2,200
OoarlYd &d32E85 7¥ 2,300,000& 2,300
405 TtabH S| 18,930 0 18,930
01 AL EZFH S 18,930 0 18,930
OgoH(4tH) 12,600, 000& 12,600
FEOH 2 AR 590,000& =9MI E 5,310
ogru=zag 170,000& =64 1,020
Lolgitel Y AMSESKE (oL D] 102,804 94,296 8,508
I ETTE D
< 29,190
Al 73,614
307 gl2tol & 102,804 94,296 8,508
< 29,190
Al 73,614




S ASI=S XD
Ha: L=NEA

el L oI=R| YLK CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
05 QIZ2tR E 2 102,804 94,296 8,508
Oaolaaeig 29 (o1AHY|) 100,404
-0 24| (29) 71,721,000 71,721
= 29,190
Al 42,531
-Mx=&(2¥) 12,705,000 12,705
-EANEZ 7,035,000 7,035
-A3BESREZ2 8,943,000 8,943
Oalbolaawy 2H (29 H|) 2,400,000 2,400
Col X2l SAA APIIRE H D (=Y Xel =8| 9,000 9,600 A 600
2 EAK HRMAH)
& 9,000
301 et A= 9,000 9,600 A 600
& 9,000
01 Al E & A 462 9,000 9,600 A 600
Orodxiel £=sI|& SAX HRMAHI
50,000 «15% x12& 9,000
& 9,000
Loldxiel o2 L SAX K& 10,000 5,000 5,000
& 3,000
Al 7,000
307 2iz2to| & 10,000 5,000 5,000
= 3,000
Al 7,000
11T AISIEXAIEEX 10,000 5,000 5,000
OLolgd el 8|2 2HAEY X2 (2¥)
10,000,000 10,000
& 3,000
Al 7,000
LOIOIEAIE SAAN EL224E 24,600 22,800 1,800
& 2,460
Al 22,140
301 et A= 24,600 22,800 1,800
& 2,460
Al 22,140
01 A3 E & A 462 24,600 22,800 1,800
OLEX2 & SAML EL£222(15H)
24,600,000 24,600
= 2,460
Al 22,140
LOIOIZ2AIE(LoYXE) SAR Ex22E 3,600 3,600 0
== 360
Al 3,240
301 et A= 3,600 3,600 0
& 360
Al 3,240




= s
SA - B (A) - NTAY - BES e HDE2
01 A28 H =62 3,600 3,600 0
OLQIOIBAIL (LOIUXt2l) BAX S4224
g(2%) 3,600,000& 3,600
=) 360
Al 3,240
S oA E ALY 35,520 33,427 2,003
= 10,656
Al 24,864
307 21201 & 35,520 33,427 2,003
< 10,656
Al 24,864
10 A SAAEHISSHIEX 34,020 ,927 2,003
O &AM (1HA) 34,020,000& 34,020
< 10,206
Al 23,814
1A SXAIE 2 = 1,500 ,500 0
Okol & agAd 1,500,000& 1,500
=) 450
Al 1,050
SHLQ Jtdlol&oteAs 29 K& 10,000 ,000 0
< 3,000
Al 7,000
307 21201 & 10,000 ,000 0
< 3,000
Al 7,000
A S XA E X 10,000 ,000 0
OSHEQ HH0IESA 22 KA (1H4)
10,000, 000& 10,000
= 3,000
Al 7,000
A5 MOt AlABHE 189,000 ,800 16,200
< 18,900
Al 170,100
307 21201 & 189,000 ,800 16,200
< 18,900
Al 170,100
11T M SXAISE EX 189,000 ,800 16,200
ONMAS It Ql AAHHE
3,500 *180F x25 2 x 12 189,000
< 18,900
Al 170,100
QIAZQRAANLBSAR S22 69,120 65,400 3,720
< 6,912
Al 62,208
301 LB A2 69,120 65,400 3,720
< 6,912




AN ALEI =X

By Lo=xEd

Sl Lol=X YRR CEEEED
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 62,208
01 MEIBZE 06z 69,120 65,400 3,720
OLQAZRAANLEEMIL SS22+2 XNS3
%) 69, 120,000& 69,120
< 6,912
Al 62,208
LOLAZRAALE J=dEaEx-gZ X XE S 13,533 13,534 A
< 1,354
Al 12,179
307 glz2tol & 13,533 13,534 A
S 1,354
Al 12,179
11T M Z2XASE EX 13,533 13,534 A
OLQURQUAAL IZMSLTT X2 (26)
13,533,000 13,533
< 1,354
Al 12,179
LEIRY ANESH 7,139,000 6,374,892 764,108
< 3,569,500
Al 3,569,500
307 glz2+ol & 7,139,000 6,374,892 764,108
= 3,569,500
Al 3,569,500
11T M3 SXAISE EX 7,139,000 6,374,892 764,108
OFIILY AESH(275%)  7,139,000,000& 7,139,000
< 3,569,500
Al 3,569,500
LOEIRY MHISX 2,754,000 2,221,694 532,306
< 275,400
Al 2,478,600
307 2I2+0 & 2,754,000 2,221,694 532,306
< 275,400
Al 2,478,600
11T MISAASER 2,754,000 2,221,694 532,306
OFIIRY MII=0(180Y)  2,754,000,000& 2,754,000
< 275,400
Al 2,478,600
LOIStEESSAMEIA SAX ML 4,200 0 4,200
< 4,200
301 LA F 4,200 0 4,200
< 4,200
01 Mel28HE 6= 4,200 0 4,200
OLQISESs M A SALAL HRIH&HI
50,0003 +7E 1204 & 4,200
< 4,200
Usteolsl X (AXE 29) 66,806 62,997 3,809




©OAEI = X
Lo=EXsd

DRSS e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 66,806 62,997 3,809
02 PIZHEHAHEE 2,200 2,200 0
OLolate AL EIHXIE 2,200,000& 2,200
03 IAHMEE2HHIES 64,606 60,797 3,809
otgt=els AMXsl 23 64,606
-4 H| 51,738
AR =FE 21,870,000 21,870
ERRE 29,868,000 29,868
-2gl 12,868,000& 12,868
SEQX AlE2el 83,820 82,822 998
201 et 43,580 42,502 1,078
01 At 2teltl 4,080 4,002 78
O£ 22=E835 +2 2,000,000 2,000
Oz4gsetg A 2ol 16,0002 » 1304 2,080
02 2324l 39,500 38,500 1,000
OZEXE= A 4,500,000& 4,500
OSEIX L M 2D QA FA22(
HE M= S) 35,000,000& 35,000
301 LEHZ 240 320 A 80
12 JIEtE &= 240 320 A 80
OSERX XX B4 (82 USAHAFIX
) 8,000& x15H +23| 240
401 AIEHI L 2CHEI 40,000 40,000 0
01 A& Bl 40,000 40,000 0
OZ243X = 40,000,000& 40,000
Jlz=de =g s+ S 371,000 275,000 96,000
= 111,300
Al 259,700
301 LBEHZ 371,000 275,000 96,000
< 111,300
Al 259,700
01 MEIE2EZE 405z 371,000 275,000 96,000
OJxME 2350 FSUYY
50,000& %1, 100H 53 275,000
= 82,500
Al 192,500
OMas kol A2dEd= NF 96,000,000 96,000
< 28,800
Al 67,200
Lo=sXNEE MEIeEs) 6,660 6,660 0
< 1,998
Al 4,662




A AMIEX
By Lo=xEd
Sl Lol=X YRR (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
307 2Iz2to| & 6,660 6,660 0
== 1,998
Al 4,662
11T A EXAIEEX 6,660 6,660 0
Ookeol=EX dE2eag 5,000 1110 A x12&€ 6,660
= 1,998
Al 4,662
LOIsiAL & S22 475,600 548,570 NT2,970
201 gEt24H Y| 9,100 9,100 0
01 AP 2t 2] d| 9,100 9,100 0
OZzY 2HAAJ¥G HFAH 100,000& 6 H 600
OAMZIEX 249K AL
100,000& x6H *23| 1,200
OFIAI|2 XN MAAMRAYSE HFAHLH
100,000& x4H «12& 4,800
oRdgAEA=E o & 200,000 x304 &~ 600
OLQAHAY EE S 29| 1,300,000 1,300
O2J7I8&)| dxz 50,000& 10~ 12& 600
202 04| 2,250 3,220 A970
01 2L HI 2,250 3,220 AN970
OLol=x & HALLE=R(7EH) 2,250,000 2,250
203 € R F=&d| 5,000 5,000 0
03 AIZH =X 2 F XY 5,000 5,000 0
OMESX YW AIHFTRALZFXH 5,000,000 5,000
301 LBt A= 459,250 531,250 AT72,000
01 Al E& A %52 456,000 528,000 A 72,000
O 20,000 1,900 ~12& 456,000
09 HAIAHI XIS 2 3,250 3,250 0
OHdZE3 & W=l 130,000& #»25H 3,250
LOolo Y SHANX& 11,000 11,000 0
307 QI2t0| & 11,000 11,000 0
11 A EXAIEEX 11,000 11,000 0
OLoloy sAI2HH| 11,000,000& 11,000
HHOlY SHALK&A 50,000 50,000 0
201 et 9| 50,000 50,000 0
03 A2 G HI 50,000 50,000 0
OHHOlY AKX & 50,000,000 50,000
N2 A 220/ (ealz) 1 10,000 10,000 0
301 et A= 10,000 10,000 0
12 JIEtE2 A= 10,000 10,000 0




SN ALSI S X
Mo Lo=XEX
& LSEX LEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Ongozd otst= 22Z 0l K& (200¥)
10,000, 000& 10,000
HX 5= 024 X3 6,640 6,640 0
< 3,320
Al 3,320
301 LEd = 6,640 6,640 0
< 3,320
Al 3,320
12 JIEHE &= 6,640 6,640 0
OHRX &= =4l X&(50Y) 6,640,000 6,640
< 3,320
Al 3,320
SHZQW SHols HHHOIE A 4,000 4,000 0
201 L4l 4,000 4,000 0
03 &Ar2 I 4,000 4,000 0
OSHLUL SNt HBI0IE A
5,000& *800H 4,000
SSAEAM AL BSAX HSIHAH 600 0 600
= 600
301 LEEAZ 600 0 600
< 600
01 MEI2EZE+06l= 600 0 600
OSSAHAMMHIA SAN MM X (
19) 600,000& 600
= 600
22X 1,035,491 982,627 52,864
= 59,981
< 120,844
Al 854,666
d2Y #g4ds NA (2Ll X&) (=Hl) 206,460 204,600 1,860
< 20,646
Al 185,814
307 gl2tol & 206,460 204,600 1,860
< 20,646
Al 185,814
11 ALS S XAEE = 206,460 204,600 1,860
OZ2% 29%4Hl XI& 155,000& x 111 L +12& 206,460
< 20,646
Al 185,814
dz2g g43 XA (KA) 138,057 137,061 996
307 gl & 138,057 137,061 996
10 ALSISXAIEEE 22X 28,857 27,861 996
OZd2d Tz )zt XA 28,857,000 28,857
11T AL SXAIEE = 109,200 109,200 0
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Mo Lo=XEX
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZ2% =Jt 294 XA 79,200,000& 79,200
OZdeg Tz )yl XA (XHA) 30,000,000 30,000
dzAE Faa4 300,960 258,552 42,408
= 30,096
Al 270,864
307 Qiz2tol & 300,960 258,552 42,408
< 30,096
Al 270,864
11 AMISIAIEE X 300,960 258,552 42,408
OP2AY LR ZA 3,0008 «380% 222 <128 300,960
< 30,096
Al 270,864
d2Y 45 NA(Z28H X) 12,000 12,000 0
< 1,200
Al 10,800
307 2I2+0 & 12,000 12,000 0
< 1,200
Al 10,800
1A ESXIAMEE X 12,000 12,000 0
OZdgd T )aHl X& 12,000, 000& 12,000
< 1,200
Al 10,800
JZAGFHAMRAAL(ZH]) 32,640 32,880 A 240
< 3,264
Al 29,376
307 21201 A 32,640 32,880 A 240
< 3,264
Al 29,376
1A SXIAMEE X 32,640 32,880 A 240
OAZAY FHAY 21248I(2Y)
1,360,000 2P« 12& 32,640
< 3,264
Al 29,376
Z2y 2435 NA(MSIZAZSH X) 99,900 99,000 900
< 9,990
Al 89,910
307 21201 A 99,900 99,000 900
< 9,990
Al 89,910
1A =S XA S 99,900 99,000 900
OZ2Y M3 sSAESHI
75,0003 * 11100 2128 99,900
< 9,990
Al 89,910
Z2Y dietgyl 2 2=2dl X 239,924 238,534 1,390
= 59,981
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
0 A= 20 K= 3,215,013 2,884,283 330,730
= 2,250,509
< 192,901
Al 771,603
301 LEHZ 3,215,013 2,884,283 330,730
= 2,250,509
< 192,901
Al 771,603
01 M2I2EZE+06l= 3,215,013 2,884,283 330,730
OFe =z =0 NS(1,011g)
3,215,013,000& 3,215,013
= 2,250,509
S 192,901
Al 771,603
== 0Ix) Xz 361,560 352,367 9,193
= 253,092
< 16,270
Al 92,198
301 LEHZ 361,560 352,367 9,193
= 253,092
< 16,270
Al 92,198
01 MI28E 6= 361,560 352,367 9,193
OFM=Z(JI=) XN=(805¢) 361,560,000& 361,560
= 253,092
< 16,270
Al 92,198
Zos=g(Ha? S) Xa 261,082 251,659 9,423
= 182,757
< 11,749
Al 66,576
301 LEEXZ 261,082 251,659 9,423
= 182,757
< 11,749
Al 66,576
01 MEIBEE 263 261,082 251,659 9,423
OB+ (Xa2 S)XS(469%)
261,082,000& 261,082
= 182,757
< 11,749
Al 66,576
ZOHe EsSXNESH XA 5,729,413 4,670,144 1,059,269
= 4,010,589
< 257,824
Al 1,461,000
307 glz2+ol & 5,729,413 4,670,144 1,059,269
= 4,010,589
< 257,824




2N
X ZH -
L= B

el

NEEin
ZoHel 2XNSA
FHojol=x 2IX

=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Al

1,461,000

A SXAIEE X

QX E=sX2=30 X2 (268%)
5,729,413,000&

= Hn

5,729,413

5,729,413
4,010,589

257,824
1,461,000

4,670,

144

1,059,269

= 0N W

1,920
1,344
86
490

,920

307 21201 &

= M W

1,920
1,344
86
490

,920

A S XA E =
ol

oL SLASNAY)

1,920,000&

= N W

1,920
1,920

1,344
86
490

.920

Z N W

16,123
11,286
726
4,111

,961

10,162

307 glztol &

=z o W

16,123
11,286
726
4,111

,961

10, 162

16,123,000&

= MW

16,123
16,123

11,286
726
4,111

,961

10,162

LETHEMHIA HIRH X

= W

260,914
182,640
11,741
66,533

,651

41,263

307 21201 &

= W

260,914
182,640
11,741
66,533

,651

41,263

11 A2l = XAt

HQEX
OLLHE I~

HlA HSH X (121E)

260,914,000&

= M W

260,914

260,914
182,640
11,741
66,533

,651

41,263




AN ALEI =X
g Foje sxsd
el FHASIA 20X (Sl & &)

=

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

O L X2l XA (SXLXtel) 452,258 379,286 72,972
226,129

33,919
192,210

= N H

101 1Al 452,258 379,286 72,972

226,129
33,919
192,210

= N H

04 DIZtHZ22 s+ 452,258 379,286 72,972
OFMHA LRl XN (SRLAtel)(74)
452,258,000 452,258

226,129
33,919
192,210

= W

oL X3 (et dRiel) 521,350 484,542 36,808
260,675
39,101
221,574

= W

101 1Al 521,350 484,542 36,808
260,675
39,101
221,574

= W

04 0IZtHZ22 s+ 521,350 484,542 36,808
O LRl N (LerEdRel)(209)
521,350,000& 521,350

260,675

39,101
221,574

= N H

ZHOH QI & X2l K& (Al 2EM L Xtel) 91,928 76,548 15,380
45,964
6,895
39,069

= M W

101 Q124 4] 91,928 76,548 15,380
45,964
6,895
39,069

= N W

04 0I2ZtHZ22 S+ 91,928 76,548 15,380
OZ ARt K& (A2 A Xtel) (7))
91,928,000& 91,928

45,964
6,895
39,069

= W

gofelelzs X& 267,340 58,974 208,366

213,872
Al 53,468
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Al 53,468
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OicHEer Z & A AE AL HI 267,340 58,974 208,366
K& (4799) 267,340,000& 267,340

213,872
Al 53,468

H

ZOHAEERII N (RRAY) 2,500 2,500 0
2,000
Al 500

H

301 LEIEN = 2,500 2,500 0

2,000
Al 500

H

01 AR 2Z A =53 2,500 2,500 0
OFOMe ExD1J X2 (59) 2,500,000 2,500
2,000
500

=

HAST0He e 2 A X 1,760 1,760 0
880
132
748

= W

301 etEH S 1,760 1,760 0
880
132
748

Z W

X =0l= 1,760 1,760 0
X AbHL X2 (509 )

1,760,000& 1,760
880
132
748

)
>
T
Jn
0
2
e
[pal
M
=5
=)
oY

= M W

=
0x
o
=
ro
M
z
2
00
>
0

5,000 4,000 1,000
3,500

225
1,275

= N W

w
2
e
=t
H
sl
oy

5,000 4,000 1,000
3,500

225
1,275

= N W

01 A28 X =0dl= 5,000 4,000 1,000
OO0lgZoHe S4&HIEXR(5%)  5,000,000& 5,000
3,500
225
1,275

= W

e SsSAHHLEMEIA AL 1,200 0 1,200
Il 600
Al 600

307 21201 A 1,200 0 1,200
Il 600
Al 600




2N

X ZH
S =

el

NEE
D EY =BREB
ZOHQI=X 2D

&
&l

=

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 1,200 0 1,200
OFOHOl STAHAYMNYIA X (10%)

1,200,000& 1,200
J| 600
Al 600

HOHI=X LEHXA 4,097,607 4,022,590 75,017
= 4,310
< 738,106
Al 3,355,191

SH o= 172,200 170,000 2,200
< 68,880
Al 103,320

301 LEd = 172,200 170,000 2,200
< 68,880
Al 103,320

01 Ml2EZE 6= 172,200 170,000 2,200
O&ZHl ZOoH=<(359Y) 172,200, 000& 172,200
< 68,880
Al 103,320

o= 24 1,370,997 1,321,919 49,078
< 70,000
Al 1,300,997

307 glz2tol & 1,370,997 1,321,919 49,078
< 70,000
Al 1,300,997

05 RIZt2IE = 1,370,997 1,321,919 49,078
OFM=2 2 1,283,557
-1 Al (25Y) 861,604,000 861,604
< 70,000
Al 791,604
-H=& 119,855,000& 119,855
SN S 79,850,000 79,850
-ASIEERE S 105,648,000& 105,648
-2gl 116,600, 000& 116,600
QA=K 2 At 29 87,440,000& 87,440

ZOHCIHIIHFAIE 2F 260,734 240,505 20,229
< 26,073
Al 234,661

307 glz2+ol & 260,734 240,505 20,229
< 26,073
Al 234,661

10 ALSISXAIEEE2EHEX 260,734 237,505 23,229
OHOMAIIHFAIE 2 260,734
-0l 244l (49) 141,216,000& 141,216
< 26,073




COANS = X B
T LIREPES
TS IO

SN HH-S(BN) - MBAY - B il HlnE2
Al 115,143
-H=g 46,679,000& 46,679
= ES S A= = 15,658, 000& 15,658
-ASIEERE S 16,911,000& 16,911
-2Z 4l 40,270,000 40,270
ZOCIF2AESAIE 25 253,170 249,950 3,220
< 25,317
Al 227,853
307 21201 A 253,170 249,950 3,220
< 25,317
Al 227,853
10 M SXNANEHIS2IHEX 253,170 244,950 8,220
OHM=AESAIE 2 253,170
o124 4| (5%) 158,566, 000& 158,566
< 25,317
Al 133,249
-M=g 32,125,000 32,125
-EANYZ 15,891,000& 15,891
-AE I EEEREE3 18,135,000& 18,135
-244l 28,453,000 28,453
=HEGHH 299 228,300 216,810 11,490
< 22,830
Al 205,470
307 glz2+ol & 228,300 216,810 11,490
< 22,830
Al 205,470
10 ALSISEXAIEEE2GHEX 228,300 216,810 11,490
O=0sSgdH 29 228,300, 000& 228,300
< 22,830
Al 205,470
>HSYHH I XA 31,500 0 31,500
402 RI2HXt20l ™ 31,500 0 31,500
01 212t 2 AL B (RERTH ) 31,500 0 31,500
O+ ESME 87 7Y X2
31,500,000& 31,500
o MEOSKNALH 29 140,200 145,822 A5,622
< 14,020
Al 126,180
307 21201 A 140,200 145,822 A5,622
< 14,020
Al 126,180
10 ALSISXAIEEE2GHEX 140,200 145,822 A5,622
OO ME0IsSKNIMMEH 2F 140,200,000 140,200
= 14,020




COANS = X B
T LIREPES
TS IO

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 126,180
ZOHU=SKAIS(ZHHAXNATHE AL A XN (78) 66,583 133,226 A 66,643
< 6,658
Al 59,925
301 LEHZ 10,800 26,500 A 15,700
< 1,080
Al 9,720
01 MI2EZE 6= 10,800 26,500 A 15,700
ONATNEANLBAR SE2LEYXA(75)(8
A) 10,800, 000& 10,800
S 1,080
Al 9,720
307 gl2tol & 55,783 106,726 250,943
< 5,578
Al 50,205
10 M3 SXNANEHI2IHEXR 55,783 106,726 A 50,943
OZMOIZX AL 22 N
55,783,000 55,783
< 5,578
Al 50,205
ZOHCI=SRAIE AT XNEU4S) 7,296 7,296 0
< 2,189
Al 5,107
307 gl2tol & 7,296 7,296 0
< 2,189
Al 5,107
11 ALS S XAEE = 7,296 7,296 0
OFMASKAIE AKX KA (45)(32%)
7,296,000 7,296
< 2,189
Al 5,107
ZOHASKIAIE SAX MHAH 25,200 30,000 24,800
< 25,200
301 LEAF 25,200 30,000 A 4,800
= 25,200
01 Al EE X =56l = 25,200 30,000 A 4,800
OFMANFAIE, ZOHAXDASITHEAE S
AKX M IHSHI(42Y) 25,200,000 25,200
= 25,200
ZONIS XA SAK M SN &6l (2040l = of i & Al 4,800 0 4,800
&)
< 4,800
301 LEHZ 4,800 0 4,800
< 4,800
01 A3l EE E 56l 3 4,800 0 4,800




2N

Akl = X1 ot

Hu: ool 2B
9l FOHQIZX LB CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
S EEEYN R EN IR
8H) 4,800,000& 4,800
& 4,800
N X FAIS HEAE SAMA S22 I 12,000 59,400 N47,400
= 1,200
Al 10,800
301 et X = 12,000 59,400 N47,400
o= 1,200
Al 10,800
01 AR E & A 462 12,000 59,400 N4T,400
OMEOISHE, +0SAME BAX S42
2SI (7H) 12,000,000& 12,000
&< 1,200
Al 10,800
ZOHCIHZAIE 29 XR(7TE) 20,600 0 20,600
= 2,060
Al 18,540
301 et M= 12,000 0 12,000
& 1,200
Al 10,800
01 Al E & A %52 12,000 0 12,000
OXEMHUAHFAILE EL2LEHRKA(7TE)(4Y)
12,000,000& 12,000
= 1,200
Al 10,800
307 2Iz2t0| & 8,600 0 8,600
o= 860
Al 7,740
10 M SXNAEEHESIGHEX 8,600 0 8,600
OXEMHALRAIE 2EXA(TE) 8,600,000& 8,600
& 860
Al 7,740
ZHUXATHEAIL S22 (LAFY) 4,000 0 4,000
2 2,000
= 2,000
402 SI2FXHE0| & 4,000 0 4,000
= 2,000
= 2,000
02 BIZtXIEANYEX(0OIETHHA) 4,000 0 4,000
OXOMNAUAXMNATHEAIE 2K 2 XA
4,000,000& 4,000
= 2,000
& 2,000
ZOHCITHIIS X AIE SAIL E42R2E 52,200 0 52,200
& 5,220
Al 46,980




AN ALEI =X

g Foje sxsd

ol FOHOISK LUK (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 52,200 0 52,200
< 5,220
Al 46,980
01 MEI2EZE 45z 52,200 0 52,200
BOjQI=X B HHAEALSAE SAKX S
222X (30Y) 52,200,000& 52,200
< 5,220
Al 46,980
ZOHQFX2AHRE WDEES ZEAAE 29 1,400 0 1,400
201 Let249y| 1,400 0 1,400
02 =224l 1,400 0 1,400
OAAE SXE 4 350,000 42 1,400
ZOHQUREHMEHH XA 166,273 157,289 8,984
< 67,949
Al 98,324
301 LEXZ 2,400 1,800 600
= 2,400
01 MEI2EZE 405z 2,400 1,800 600
OO XS MEMEH SAN MR X (
4%) 50,0003 »4H 128 2,400
= 2,400
307 glz2tol & 163,873 165,489 8,384
S 65,549
Al 98,324
03 BIAHNHE2IHIEL 163,873 155,489 8,384
OFO XS MEME K& (1H)
163,873,000& 163,873
< 65,549
Al 98,324
BOHQUAEAE (SIN2EHE) ISEL(HES) 4,620 0 4,620
2 2,310
< 2,310
401 Al HIZ 201 Y] 4,620 0 4,620
= 2,310
< 2,310
01 A& HI 4,620 0 4,620
OFMHAANFAIE 822 S WM 4,620,000& 4,620
= 2,310
= 2,310
ZONCITIIEXAIE Y XA (28) 12,200 0 12,200
< 1,220
Al 10,980
307 21201 A 12,200 0 12,200
< 1,220
Al 10,980




2N
e =SXsN

el

X ZH
S =

Akl = X1 ot

ZOHOIZ X LEHKl &

5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
10 M3 SAANEEHESIGHEX 12,200 0 12,200
O &ojer=EX2, HHF2AESAIE 2HXA
(2x) 12,200,000& 12,200
& 1,220
Al 10,980
A2 ZOHQIEOAIE DJDsXdddyH 29 75,000 65,000 10,000
= 22,500
Al 52,500
307 2Iz2t0| A 75,000 65,000 10,000
= 22,500
Al 52,500
10 M SXAANEEHESIGHEX 75,000 65,000 10,000
OXNHQUHEHOYAIL JD=XNRHH SH(1HM)
75,000,000 75,000
= 22,500
Al 52,500
HOQIEXNAE MEZT=OH X 12,960 12,280 680
= 3,888
Al 9,072
307 2Iz2t0| & 12,960 12,280 680
= 3,888
Al 9,072
11T A EXAIEEX 12,960 12,280 680
OXMHERAILE T2 X (2MHA)
12,960,000 12,960
= 3,888
Al 9,072
ZoHe E=XY M FA 7,200 7,200 0
201 et | 7,200 7,200 0]
01 AP 2t 2| H| 7,200 7,200 0
OFHMNESSXNE =3 NH2AARAJ]Z & FA
=Gt 100, 000& 62 x123| 7,200
e EsXd 20 =IO 614,790 211,041 403,749
= 245,916
Al 368,874
307 QI2t0| & 614,790 211,041 403,749
& 245,916
Al 368,874
11 Al EXAIEEX 614,790 211,041 403,749
QXL ESXNASH IR (165Y)
614,790,000 614,790
o= 245,916
Al 368,874
2O ESXE 20 24A12F X & 166,558 153,965 12,593
& 49,967
Al 116,591




AN ALEI =X

g Foje sxsd

& HOHA=SX LeXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 166,558 153,965 12,593
< 49,967
Al 116,591
11T M SXASE EX 166,558 153,965 12,593
OXF =X S0H 24A12F X2 (3F)
166,558,000 166,558
< 49,967
Al 116,591
ZOHQI D e 114,000 114,000 0
< 45,600
Al 68,400
301 EEMZ 114,000 114,000 0
< 45,600
Al 68,400

&= 114,000 114,000 0

114,000, 000& 114,000

45,600
68,400

= M

MAas el osd X&E 18,000 18,000 0
7,200
Al 10,800

m

301 LEIENF 18,000 18,000 0

7,200
Al 10,800

fn

LGS 18,000 18,000 0
|2Hl X (12H)
18,000,000 18,000

7,200
Al 10,800

O
=
P
Jn
0z
2
e
(]

H

A=K Z2 E5 12,685 13,000 A315

5,074
Al 7,611

H

307 glztol & 12,685 13,000 A315

5,074
Al 7,611

H

11 Al
O

ton
114
P

g2 12,685 13,000 A315
A2 22(2762t7) 12,685,000 12,685

5,074
7,611

= XA
£ OH

ol
oI =

0

paal

= M

FOAAIE 2 20,000 57,000 A 37,000

401 AIEHIZ 2 I 20,000 57,000 A 37,000

01 A& HI 20,000 57,000 A 37,000

OXHMAUEH S AR L HE RAES
20

,000,000& 20,000




AN ALEI =X

g Foje sxsd

Sl MOjI=R LUK R CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOHAU=SXEH =4 4,782 5,596 A814
201 £B-2d| 2,822 2,796 26
01 At 22l 2,822 2,796 26
OZOMALXeIMY BE /& =
150,000& 9H 1,350
OZMOI=XPIAS 519 BAxg
100, 000& x9H 900
O&oel Xrsxt =X 1, 1002 52004 572
202 oddl 1,960 2,800 A 840
01 = LH o4 4l 1,960 2,800 A B840
QX dRF&E(5Y) 1,960,000& 1,960
Zoferel & At 12,000 12,000 0
307 21201 A 12,000 12,000 0
11T MISAASEX 12,000 12,000 0
O&OLIe & &AL 12,000, 000& 12,000
AM 2 SSHMMS THEAMS 31,796 32,254 A 458
307 21201 A 31,796 32,254 A 458
03 QIZtHHNHE2HEHEX 28,386 28,391 A5
OZOHOISAY SHX 2L (XMEOH 0l
22 L WHEMY S) 28,386
-4 H| 20,746,000 20,746
-2 7,640,000 7,640
11 AL SXAEE = 3,410 3,863 A 453
OZJl&E sSHEore, XNMEHAMEUHE =4
A& 3,410,000 3,410
AZEOHl THE ALY 34,405 33,250 1,155
307 21201 A 34,405 33,250 1,155
03 2IAHMEE2LHIES 23,905 23,750 155
OA2ZHeEs ned & A0S e 2
& 23,905,000& 23,905
11T MISRASEX 10,500 9,500 1,000
OAZZe BXuns, 2tME S
10,500, 000& 10,500
ZOHAE MEns & ME 9,560 9,200 360
307 glz2+ol & 9,560 9,200 360
11T MISRASEX 9,560 9,200 360
OFMXH ERQEZIY, IIZHE S
9,560,000& 9,560
2 AN THEAS 10,000 9,000 1,000

307 21201 A 10,000 9,000 1,000
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AN ALEI =X

g Foje sxsd

Sl MOjI=R LUK R CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
g ZOoH JIMA K& 9,000 0 9,000
< 2,700
Al 6,300
301 LEd = 9,000 0 9,000
< 2,700
Al 6,300
01 Ml2ZHE 6= 9,000 0 9,000
O-gsHFM JIMAH K&
50,0003 x20H «9& 9,000
< 2,700
Al 6,300
FHAESEE 2 SHI| & 5,000 7,500 A 2,500
405 XtatE SHI 5,000 7,500 A 2,500
01 AR ESFH S 5,000 7,500 A 2,500
OFMUESEET SHI| &
2,500,000& =2CH 5,000
QIZEHWoI 2T HEXE 3,000 3,000 0
307 21201 A 3,000 3,000 0
01 92724l 3,000 3,000 0
OZSEHwol2 Halt MEX= (1Y)
3,000,000& 3,000
HEZME SMXAS & 2=l 10,000 8,000 2,000
301 LPEAZ 10,000 8,000 2,000
01 MEIBEEE 2053 10,000 8,000 2,000
OO&EM EMXES ¥ 2=HI(8Y)
10,000, 000& 10,000
ZO=RINE SISEWHS 4,000 4,000 0
201 L4l 4,000 4,000 0
02 =224l 4,000 4,000 0
O&EM=XINE SIREHHS 4,000,000& 4,000
ZOHQ HOAL HEEIANQEY 2 24,448 14,762 9,686
< 7,335
Al 17,113
307 21201 A 24,448 14,762 9,686
< 7,335
Al 17,113
10 ALSISXAIEEE2IHEX 24,448 14,762 9,686
OXO0fQ HOAIE HEBEIMRE 2L (1Y, 1
) 24,448,000 24,448
= 7,335
Al 17,113
NI ZHOHe oAl D WE 630 630 0




COANS = X B
T LIREPES
TS IO

- _ _ RE]

SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 630 630 0
01 AP 22| H| 630 630 0

ONFU FoHe QAN DK ZAH L B4
ok Ml & 630,000 630

HOeISESXIIE g2 £=4+2 NS 1,500 1,500 0
201 et d| 1,500 1,500 0
01 AFR 2t 2| H| 1,500 1,500 0

OXMUEE=2XIHE Y222 X
1,500,000 1,500
ZHOH QI & A & T & 589,301 569,397 19,904
= 105,908
Al 483,393
MO ATHEANLERH 432,708 412,804 19,904
=} 43,271
Al 389,437
307 QI2t0| ™ 432,708 412,804 19,904
= 43,271
Al 389,437
10 A SXNANEEHESIGH EX 432,708 412,804 19,904
OXMAXMNATHEAIE 2H 432,708
-0l MY (7Y) 240,655,000 240,655
o=} 43,271
Al 197,384
-Hl+=< 63,520,000 63,520
-E A2 25,350,000 25,350
-ANSBEEEZ 31,940,000 31,940
-2 | 71,243,000 71,243
Z0e AFHE0] 2H 156,593 156,593 0
= 62,637
Al 93,956
307 2iztol A 156,593 156,593 0
= 62,637
Al 93,956
11T AISIEXAIEEX 156,593 156,593 0
QT A=a =20 29 (269)
156,593,000 156,593
& 62,637
Al 93,956
orsEXsX 2,082,988 1,941,261 141,727
= 850,544
= 279,178
Al 953,266
Ols=X 210X & 1,579,908 1,481,359 98,549
= 850,544




AN ALEI =X
3 ois=Asd

9l OlS =X FDAE (ol @)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 113,563
Al 615,801
FAHE OlsSEMEIA NE 174,400 161,000 13,400
= 139,520
< 5,232
Al 29,648
201 LBr2d| 31,900 26,000 5,900
= 25,520
< 957
Al 5,423
01 At 2t 2l 24,800 18,400 6,400
OSEAEEMH 2% JI&2&4l 10,000,000 10,000
= 8,000
< 300
Al 1,700
OEYAERE 228 72  2,500,000& 43| 10,000
= 8,000
< 300
Al 1,700
OEEAEE 22038 E1=H|
400,000& x4H 1,600
= 1,280
< 48
Al 272
O#HHIE & HaAM &=+
100,000 »8H »43| 3,200
= 2,560
< 96
Al 544
02 =224l 5,500 6,000 A 500
O EHAEEHH ANERSXNES 500,000& 500
= 400
< 15
Al 85
OZ8XE RANE=> 3,000,000& 3,000
= 2,400
< 90
Al 510
OEEARE EHOX ®"XE2=+ 2,000,000 2,000
= 1,600
< 60
Al 340
03 A2 Z HI 1,600 1,600 0
OCEHAEE 23ME T2 XA (53])
1,350,000 1,350
= 1,080
< 40
Al 230
ORZuNE AAME 250,000& »13] 250




AN ALEI =X
3 ois=Asd
el Ots=EX 20X (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

200
8
42

= Hn

301 LetE2H =S 142,500 8,000 134,500
114,000

4,275
24,225

= N H

01 A28 H =62 135,500 0 135,500
E o958 Z=z3(2304)
135,500, 000& 135,500
108,400
4,065
23,035
183 7,000 8,000 A 1,000
(53l)
,000,000& 7,000
5,600
210
1,190

= MW

= Hn

CEABHEOES A

4
e
10
=
10

a 1,400 2,000 A 600

202 04l 1,400 2,000 A 600

01 SLHOYI 1,400 2,000 A600
OEEHAEE g2=2 1,400, 000& 1,400

Ots=EXnAL XI& 181,604 224,393 N42,789
89,772
13,466
78,366

= M W

101 1Al 181,604 224,393 N42,789
89,772
13,466
78,366

= M W

04 DIt 22 XS+ 181,604 224,393 N42,789
OOtS=XIWAH9Y ) (AEH]) 90,802
-Jl=s 1,143,000 x9H «4& 41,148
20,574
3,086
17,488
=g 57,1503 »9H »2 1,029
fE23 124, 7503 »9LH x4 8 4,491
2,245
337
1,909
-JIet2g8l S 44,134,000& 44,134
22,067

3,310
18,757

OOts= X W AHO9Y ) (3HBHII) 90,802

=
©

= HnH

= MW

= N H




AN ALEI =X
3 ois=Asd

&??: OtsEX 20X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-JleEs 1,143,000 9% »4 & 41,148
2 20,574
< 3,086
Al 17,488
-ANRSFI ¢ 57,1503 »9H 2 1,029
“ABIEE Jzeea 124,750 21 *0 x4 4,491
= 2,245
< 337
Al 1,909
-JIEt2EHl S 44,134,000 44,134
= 22,067
< 3,310
Al 18,757
XNEotsdEe 22H K& (24l) 1,054,800 969, 850 84,950
= 527,400
< 79,110
Al 448,290
307 gl2tol & 1,054,800 969, 850 84,950
= 527,400
< 79,110
Al 448,290
10 AL SXNAIEEE2EHEX 1,054,800 969, 850 84,950
OXNYotsdE 29 (15014)  1,054,800,000& 1,054,800
= 527,400
< 79,110
Al 448,290
S42RE NAOISHE ZIX 29,200 43,848 14,648
=2 14,600
< 2,190
Al 12,410
307 glz2+ol & 29,200 43,848 A 14,648
= 14,600
< 2,190
Al 12,410
10 ALSISXAIEEE2EHEX 29,200 43,848 A 14,648
S+SHE XNA0LSHE X (4H4A)
29,200,000& 29,200
= 14,600
< 2,190
Al 12,410
E22Y XAOISHE =N 10,944 3,648 7,296
= 5,472
< 821
Al 4,651
307 glz2+ol & 10,944 3,648 7,296
= 5,472
< 821
Al 4,651




2N
P ors=EXEA

el

X ZH
S =

Akl = X1 ot

OtS=A =1X&

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
10 M3 SAANEEHESIGHEX 10,944 3,648 7,296
OEReY XNYotsHE =X (3HA)
10,944,000 10,944
= 5,472
& 821
Al 4,651
XE0otsHdEH S6t3 a2 ol22 4,920 0 4,920
= 2,460
= 369
Al 2,091
201 B9 4,920 0 4,920
= 2,460
== 369
Al 2,091
02 2224 4| 4,920 0 4,920
OXY0tSHE Sols ota 220l ol22 (164
A) 4,920,000& 4,920
= 2,460
& 369
Al 2,091
NEotsHE BII838D] NS 18,480 0 18,480
= 9,240
= 1,386
Al 7,854
307 2Iz2to| A 18,480 0 18,480
= 9,240
== 1,386
Al 7,854
10 M SAANEEHESIGHEX 18,480 0 18,480
OXotsHEe 2I8#FI dx2 K& (4600)
18,480,000 18,480
= 9,240
o=t 1,386
Al 7,854
NEotsHE 3MA X3 20,000 50,000 A 30,000
= 10,000
== 1,500
Al 8,500
307 2Iz2t0| A 20,000 50,000 A 30,000
= 10,000
= 1,500
Al 8,500
10 M SXAAEEHESIGHEX 20,000 50,000 A 30,000
OXNYGotsHE SHINE X (2MA)
20,000,000 20,000
= 10,000
&< 1,500
Al 8,500




2N

X ZH
S =

el

Akl = X1 ot
P ots=ENsd
OtsSX =210X&

SN FH-SA(EN) - MBAY - BES

=

i
2m

Ct

oo

N=ssdH £Xd X3

= N H

70,000
45,000

7,500
17,500

401 AIEHIZ 2 I

= N H

50,000
25,000

7,500
17,500

50,000

01 A& HI

OUENEsSHE 222l X2 (10H2)
50,000,000&

= W

50,000

50,000
25,000

7,500
17,500

50,000

405 TtabH S|

H

20,000
20,000

20,000

01 et = ]|

=
OUENEsS8HdH JINMHB(B+=22 M)
20,000,000

Jn

F

H

20,000

20,000
20,000

20,000

= W

13,260
6,630
1,989
4,641

13,260

307 21201 &

= W

13,260
6,630
1,989
4,641

13,260

o
&
e
=
0
o

O
o
oo
= m
i
ol
rx
)
[
Y

g XI&
4,420,000& 38

= N H

13,260

13,260
6,630
1,989
4,641

13,260

o
oor
=
i
ol
[
m
2]
02
o
bl
o

H

Al

900

450
450

900

307 21201 &

H

Al

900

450
450

900

o
&
e
=
0
o

O
o
oo
= m
i

s4dH 224 XI¥  300,000& *38

H

Al

900
900

450
450

900

= M

503,080

165,615
337,465

43,178




SA: AEIEX D
Ha: S=NSH

0SS LEX A

% S 4 14
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
X< 0ts Ml E s A X& 182,280 179,928 2,352
== 91,140
Al 91,140
307 2Iz2t0| A 182,280 179,928 2,352
o= 91,140
Al 91,140
11 A EXAIEEX 182,280 179,928 2,352
OXNYotsHE s2WAF AR (14¥)
182,280,000 182,280
& 91,140
Al 91,140
NE0otsHEH SO8H LA A& 34,560 34,560 0
= 13,824
Al 20,736
307 212t0| & 34,560 34,560 0
o 13,824
Al 20,736
1 AFSIE XA E X 34,560 34,560 0
OXE0tsSHH EJIXEY ns2dA X
960,000 »x3H x12& 34,560
o 13,824
Al 20,736
XNE0lsHEH Ex222 I 51,600 47,400 4,200
o= 20,640
Al 30,960
301 et M= 51,600 47,400 4,200
o= 20,640
Al 30,960
01 Al E& A 252 51,600 47,400 4,200
OXNY0tSHE EAMN EL222E(36Y)
51,600,000 51,600
o= 20,640
Al 30,960
Ots=2X WA XIS (XA 1,200 600 600
201 et 1,200 600 600
01 AR 22l ] 1,200 600 600
OOsSESX LA IHE HERAR MA =
200,000 x3H 23| 1,200
XNEotsdye 29 =0 A& 122,750 102,750 20,000
307 QI2t0| & 122,750 102,750 20,000
10 MM SAANEEHESIHEX 122,750 12,750 110,000
OYLterd] X (14044 ) 12,750,000& 12,750
O29H| =JF XN (144 A) 110,000,000 110,000
HOEE KNE0t=sHEH KR 29,640 29,280 360




SN ALSI S X
g ots=Xsd
& OSSR LEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 11,856
Al 17,784
307 glz2tol & 29,640 29,280 360
< 11,856
Al 17,784
10 ALl SXAIEEE 2 H EX 29,640 29,280 360
OXMSE XH0otSHE(1914) 29,640,000 29,640
< 11,856
Al 17,784
ANSotsdlH 2ES X 4,000 4,000 0
307 21201 A 4,000 4,000 0
11T M SRASEX 4,000 4,000 0
OXSotsHe 2HEs XA(12) 4,000,000 4,000
NEOtsHE SASAA edd X2 33,600 33,600 0
307 21201 A 33,600 0 33,600
10 M2 SXNANEHE2IHEX 33,600 0 33,600
OXSotsSHEH SASAMI AHl X
200,000 1401 2128 33,600
ANEotsdH ME sl 19,450 19,450 0
< 5,835
Al 13,615
307 21201 A 19,450 19,450 0
< 5,835
Al 13,615
11T M3 SXAISEEX 19,450 19,450 0
OXSotsHH Me&gsH XN
50,0003 389 13| 19,450
< 5,835
Al 13,615
ANE0tsdH 2XE AHlA 2,400 6,334 A 3,934
< 720
Al 1,680
201 et 2,400 0 2,400
< 720
Al 1,680
02 2324l 2,400 0 2,400
OXotsdly 2L MEIA X2 (16702 )
2,400,000& 2,400
< 720
Al 1,680
ANEOotsEEH SAX M<oHAH 21,600 0 21,600
< 21,600
301 LA S 21,600 0 21,600
< 21,600




2N
P ors=EXEA

el

X ZH
S =

Akl = X1 ot

OlSSX LEeX#

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 MI2EZE+06l= 21,600 0 21,600
OXdotsHE SAN MLl XS(36Y)
21,600,000& 21,600
< 21,600
3 AJU=E Ots=X & 9,033,965 8,672,086 361,879
= 3,958,402
J| 77,735
< 1,487,746
Al 3,510,082
Ots=XJlgt &= 83,620 73,340 10,280
Ots=XEx = 20,620 20,340 280
201 Let24d] 6,840 6,040 800
01 At 22/l 6,600 5,800 800
OotE=X MRS HHL
100,000& »10H »43] 4,000
OtssSA3s &= 100,000& «9H x23] 1,800
OOtssttHol Y s 2ALE 250,000 *2A1 2t 500
OUEO0Is0lAIE ZIANEZEA =2
300,000& *1JH & 300
02 =24l 240 240 0
OSZ020I=0lE LS (E=01H)
20,0003 104 A %12 240
202 04l 980 1,400 A 420
01 = LH o4 bl 980 1,400 A 420
OOtsAIZEd L Otssi g2
980,000& 980
301 LeEAF 200 300 A 100
12 JIEtE 43 200 300 A 100
OREsl0ts AZH & 10,000& 20H 200
307 gl2tol & 12,600 12,600 0
11T M SXALSE EX 12,600 12,600 0
OAE0ots o2lolg A &It X2 (2004)
1,500,000 1,500
OAM&AOIS MU &I X (2 L)
1,500,000 1,500
OAl&0ots deladg 2 Xg X
80,000& *x12& +103] 9,600
Heol =01 Ald 8K B 25,000 15,000 10,000
401 AIEBIZ 28I 25,000 15,000 10,000
01 A& Hl 25,000 15,000 10,000
SE0E0l=0H RXNE(60L)
15,000, 000& 15,000




2N
X ZH -
L= B

el

Akl = X1 ot
YUE Ot
|,

Ots=XDIg

s

Jor i
O =

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

SEOE0=0H EAH L FHSFML (1K
) 0,000,000&

10,000

38,000

38,000

38,000

38,000

38,000, 000&

38,000
38,000

38,000

H

5,017,060
3,958,402
42,070
431,636
584,952

5,452,222

N 435,162

1o
02
=)
o
¥
I
-
0
[
i)
1
on
P}
0

Il

= M

54,000
37,800

2,430
13,770

54,000

Il

H

Al

54,000
37,800

2,430
13,770

54,000

150,000 ~30E 122

=Z N X

54,000

54,000
37,800

2,430
13,770

54,000

OtS 2 XI& A &

=z M H

80,799
56,559

3,636
20,604

87,360

N6,561

Z N W

80,799
56,559

3,636
20,604

87,360

N6,561

=]
OotsZ XA X (186%) 80,799,000&

= M W

80,799
80,799

56,559
3,636
20,604

87,360

A6,561

HIAZAH(OISEXAE)

= M W

230,000
207,000
16,100
6,900

200,000

30,000

307 21201 &

Z W

230,000
207,000
16,100
6,900

200,000

30,000

ARSI S XA E X

230,000

200,000

30,000




2N
X XH: &
o = =

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMAZSH (OIS=XIAIE) 230,000, 000& 230,000
= 207,000
< 16,100
Al 6,900
YAOLSIHERN A (L =012t 2X X&) 700 700 0
J| 490
Al 210
301 LA S 700 700 0
J| 490
Al 210
01 MEIBEE 263 700 700 0
Ogd=eddlz2t 2R XI& 700,000 x1H x13] 700
J| 490
Al 210
LAOSIHEXNZ (L LHEXE) 5,400 5,400 0
J| 3,780
< 243
Al 1,377
301 gEEd = 5,400 5,400 0
J| 3,780
< 243
Al 1,377
01 M2I2ZHE +06l= 5,400 5,400 0
ogaasd & HslHE K& 2,700,000& 2 5,400
J| 3,780
< 243
Al 1,377
ASGotsEsdelad 2 012/88) 17,132 17,288 A 156
308 XXM SO0 A 17,132 17,288 A 156
07 IXNHHARE = 17,132 17,288 A 156
OXYotsEsdI& 29 2E3
17,132,000& 17,132
ZIE OtsSESdZ2I 2 SAN Ex222E 2,087 0 2,087
308 XX EHSOIA 2,087 0 2,087
07 IXNHMAR S = 2,087 0 2,087
OZJE OlSESHIINZ BN S22
g 2E=s 2,087,000 2,087
JIIE OtsEsd=20|2 o1Ad8l K& 6,972 0 6,972
308 XM SOIH 6,972 0 6,972
07 HIXNHMARE = 6,972 0 6,972
OZJ& OtsEsdEoI& o148 XA
6,972,000 6,972
ZIE OtSESdI02 & dXs X 451 0 451
308 XXIEHHSOIA 451 0 451




2N
X XH: &
o = =

el

Akl = X1 ot

Off &t 24

=

i
2m

07 X SHH2LES =S

OZJI& OIsEsd2II2 g 2z N

451,000&

451

451

451

= MW

4,507,000
3,606,000
405,630
495,370

4,962,581

A 455,581

= W

4,507,000
3,606,000
405,630
495,370

4,962,581

A 455,581

=g X&(3,7769) 4,507,000,000&

=z N H

4,507,000
4,507,000

3,606,000
405,630
495,370

4,962,581

A 455,581

= MW

1,009
706
91
212

299

= MW

1,009
706
91
212

299

01 AtR 2t 2l |

OO0ts=% XXM AL = &lH| 1,009,000&

= N H

1,009

1,009
706
91
212

299

T
for
O
Hy
Q
O
paal
it
1
on

= N H

100,800
80,640
3,024
17,136

108,000

AT,200

= N H

100,800
80,640
3,024
17,136

108,000

AT,200

= W

100,800

100,800
80,640
3,024
17,136

108,000

AT,200

E50s NEXNE (FAHLXNSs0sS ANEXH)

Z W

10,710
7,497
482
2,731

6,820

3,890




2N
X XH: &
o = =

el

Akl = X1 ot

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2Iz2to| & 10,710 6,820 3,890
= 7,497
< 482
Al 2,731
11T AISIEXAIEEX 10,710 6,820 3,890
OAEYL M S 2AH 2 A
Hl X< (6H) 10,710,000& 10,710
2 7.497
& 482
Al 2,731
g & Ots =X 3,933,285 3,146,524 786,761
J| 35,665
== 1,056,110
Al 2,841,510
g4 Y BSEZ OIS A™Z 70,000 30,000 40,000
= 21,000
Al 49,000
301 LBt A= 70,000 30,000 40,000
& 21,000
Al 49,000
01 Al E & A 452 70,000 30,000 40,000
f4 W ESEZH OIS NEXNREHD
10,000,000& x7H 13| 70,000
= 21,000
Al 49,000
IEAE LS H 91,000 67,200 23,800
o=t 9,100
Al 81,900
301 et M= 91,000 67,200 23,800
o 9,100
Al 81,900
01 Al E& A 252 91,000 67,200 23,800
Odex=X 91,000
/Y 2= 300,000 x25H x12& 90,000
= 9,000
Al 81,000
-JIEAE oIs=sE23 Hl
500,000 x2H % 13| 1,000
= 100
Al 900
lek=5t2 X& 2,000 2,000 0
=} 600
Al 1,400
301 et ™M= 2,000 2,000 0
= 600
Al 1,400
01 Al E& A £5 3 2,000 2,000 0




SA: AEIEX D
M 5YQs OlS=X A

& #I& ots=X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Oge=dtza XA 1,000, 000& »2H 2,000
< 600
Al 1,400
IHERIE Stsgs XA 34,380 22,080 12,300
< 3,438
Al 30,942
301 LA S 34,380 22,080 12,300
< 3,438
Al 30,942
01 MEIBEE 2063 34,380 22,080 12,300
OJHFIE SHEHE KR (25Y) 34,380
-st& M =l 20,0003 x22H x12& 5,280
< 528
Al 4,752
-SZ 9 24| 40,0003 259 *43| 4,000
< 400
Al 3,600
-W=2354| 200,000 x7H 128 16,800
= 1,680
Al 15,120
- (=28 HEgEs)
100,000& x4 H 13| 400
< 40
Al 360
-HEsS(AE) 20,0003 x10H #23| 400
< 40
Al 360
-stalst =L = 2,500,000 »3H 7,500
< 750
Al 6,750
2AOIS S AR (XM /X ) 1,189,080 971,745 217,335
< 356,724
Al 832,356
301 LPEXZ 653,400 453,087 200,313
< 196,020
Al 457,380
01 MEIBEZE 05z 653,400 453,087 200,313
OZAlots= A X2 (900F) 653,400,000 653,400
< 196,020
Al 457,380
307 21201 A 535,680 518,658 17,022
< 160,704
Al 374,976
11T AL SRAEE = 535,680 518,658 17,022
OQZASS AN (XNH0otSHE 140HL)
535,680,000 535,680
< 160,704




SA: AEIEX D
M 5YQs OlS=X A

Hel: 018 ots=sXl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 374,976
Z2A0tssSAXE 231,000 80,850 150, 150
< 231,000
301 LEd = 231,000 77,350 153,650
< 231,000
01 MEI2EZE 06z 231,000 77,350 153,650
OZAOISS AN (RIS HELS) (50
) 231,000,000 231,000
< 231,000
OtsS=XANE2I 1,919,686 1,597,536 322,150
< 287,953
Al 1,631,733
307 21201 A 1,919,686 1,597,536 322,150
= 287,953
Al 1,631,733
10 AL SXNAIEEE2EHEX 1,919,686 1,597,536 322,150
OOtSLAIE2Z (20 A) 1,919,686, 000& 1,919,686
< 287,953
Al 1,631,733
OFSEXAIA OlS 2astsss X8 186,976 159,500 27,476
< 74,790
Al 112,186
307 glz2tol & 186,976 159,500 27,476
< 74,790
Al 112,186
11T MISXASEEX 186,976 159,500 27,476
OOSEXMEAL SHSHSIR(3HA)
186,976, 000& 186,976
< 74,790
Al 112,186
ONE=SNANLEENNSL224S 94,200 78,600 15,600
< 37,680
Al 56,520
301 LEEAZ 94,200 78,600 15,600
< 37,680
Al 56,520
01 MEIEBEZE+05l= 94,200 78,600 15,600
OOS=SXAIESAX S22 (46%)
94,200,000 94,200
< 37,680
Al 56,520
2ES0ts 1858 24 89,163 86,250 2,913
J| 35,665
= 8,025
Al 45,473
307 glz2tol & 89,163 86,250 2,913




SA: AEIEX D
M 5YQs OlS=X A

Hel: 018 ots=sXl (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 35,665
< 8,025
Al 45,473
10 ALSISXAIEEE2EH EX 89,163 86,250 2,913
OSSdEINF(OEE) 2%l XN (1IHA)
89, 163,000& 89,163
J| 35,665
< 8,025
Al 45,473
Ots =X AIE S AR S 1 & I 25,800 41,400 A 15,600
= 25,800
301 LEAZ 25,800 41,400 A 15,600
< 25,800
01 MEI2BZE 06z 25,800 41,400 A 15,600
OOtSSEXAIE SAX HMHAHI(48Y) 25,800
-Ols&=SAlL 25,800,000& 25,800
< 25,800
A 2L A (AL =S X1t 239,707 245,244 A5,537
= 113,818
< 5,733
Al 120,156
Jl2Z 4l (A3l = Xl 1) 38,180 55,460 A17,280
Jl2del(Atsl =S X 1) 38,180 55,460 A 17,280
201 Let249] 16,700 16,700 0
01 At 22/l 16,000 16,000 0
ORA2 AR 22| 16,000, 000& 16,000
02 =224l 700 700 0
ORI (SIREESE 5) 700,000& 700
202 44l 17,280 34,560 A 17,280
01 S LHOIYI 17,280 34,560 A17,280
AREA 200l (18Y) 17,280,000& 17,280
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH 4,200 4,200 0
ORN2IYPFAHI(2521015t)
350,000& 122 4,200
ol 2 AU (A3 =S X2t 201,527 189,784 11,743
= 113,818
< 5,733
Al 81,976
FANS OlSSEMEIA XA (2HHl) 119,459 115,779 3,680
= 75,636
< 2,836
Al 40,987
101 @124l 119,459 115,779 3,680




SN ALSI S X
M #Y2AZH (AsI =X D)
Chol: ol 2 Syl (A3 = X TH) (sl &2)
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 75,636
= 2,836
Al 40,987
3 RIAHAZZ N E 119,459 115,779 3,680
OOtS S A Z2/AHSRZ) A 119,459
JlEs(BHE1, 2524 /2554)
(2,050,000 «2H 122 )+(2, 100,000 12 *1 74,400
22))
= 59,520
< 2,232
Al 12,648
-Jlg= (Al F=0F X&)
(232,330 «2H *12& )+(205, 160 * 1P 128 ) 8,038
MBI EE JIBRYE 2 ENNYS
16,184,000& 16,184
= 12,947
< 486
Al 2,751
~AHEEEIIBRSE W SANNYS (MY =
Jb X&) 3,716,000 3,716
-0 Hl 1,000, 000& 1,000
= 800
< 30
Al 170
-z g(BASK, 28528 /24554)
(16,4002 2 5 Al 2h %128 )+( 16,5509 1 *5 2,961
A2bx128)
= 2,369
= 88
Al 504
-ESE
(220,000 * 18 122 )+(40, 0002 +2H «12€ ) 3,600
RS EINLY
(87,4403 »2H 52 )+(88,240% 1 x5 ) 1,316
-EE SOl
(2,738,800 x2H )+(2,766,200& 1 ) 8,244
OlS =X WA XI&(2124H]) 35,279 34,396 883
= 13,014
< 1,953
Al 20,312
101 124 dl 35,279 34,396 883
= 13,014
< 1,953
Al 20,312
03 RIHAZ 22 35,279 34,396 883
OOtS =X WA K& (XIS ALSI = XIA) 35,279




2AM: A=K
MM HNM2HHH (A =2X D)

S o T o

el A2 (A S X1 (&)
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
-J| (BA=X1, 2514)
1,823,000 x1Hx12& 21,876
= 10,938
< 1,641
Al 9,297
-Jlg= (Al F=0F X&)
310, 1003 x 18 128 3,722
-NE2E JIBRYS L HNEYD
4,152,000& 4,152
= 2,076
< 312
Al 1,764
-MEIEE J2RE3 2 SIANEZ(AMH F
Jb X&) 712,000& 712
-hEE 120,000& 1H 122 1,440
-ANRSFIITE 81,6803 x 1«10 817
-ZE F Ot 2,559,720 1 2,560
Its2sdEed =& 46,789 39,609 7,180
= 25,168
& 944
Al 20,677
101 @124 dl 46,789 39,609 7,180
= 25,168
< 944
Al 20,677
03 RIAHAZZ2THE = 46,789 39,609 7,180
OOtsEsdgold Q] 46,789
ez (BHEX2, 2544 /2554)
(2,505,760 «1H 12 )+(2,530,820 % »1& * 11 30,345
2)
= 24,276
< 910
Al 5,159
-ASEEIIRRSE U NN
5,765,508& x1H 5,766
= 892
< 34
Al 4,840
IR AY(PA=K2, 244 /2454)
(17,9902 »1H » 12 x12A1 2H)+(18, 1702 * 1 1 2,615
12 *12A12H)
SObEAY(SYINEIY, LYIE2Y)
(120,000 * 1«58 )+(60,0002 x1H +7€ ) 1,020
-HAXFRSFIE 12, 1103 «1H+8AI 2tx10€ 969
- E F Ol 3,036,990% 1 »23| 6,074




